000 O¥E Z¢ 000 0.¥ £€ 1000 06¥ ¥€ | 000 068 ¥ |000 Ov¥ 6E [SOL L9 ¥IL 000 000 0£Z ussazZSSQ g
000 002 0000€Z  [0000SZ  |00000F |0000OSZ |€¥L 00 ¢ Bosioy isgjezexieny - R4
000 000 L1 000 000 Z! [000 000 €1 |000 052 €1 |000 056 21 |2Z9 22} 8S Dospeze|e)0y Isgjezyjewe - ¢
000 ObL 12 000 0¥2 LZ |000 OFZ L2 [000 0¥Z 12000 O¥Z 1.2 |000 006 €21 000 000 0€Z '62°21°910C ‘1919Ae/ elgsepeseAball |910H [euwa] — je)y ISezeynieq 410 T

19%-"2202 ‘9202 ‘G202 '$202 ‘€20C | 9AYselj®) bI-*1£°Z1°ZZ0g | @Dazssg [onH s9zanaubely L

H 9 4 3 a fo) g v
ueg-14 yolepy
'€202Z

HIOFSLLIIZITILON QYUY TVSSYLVHIM SIAZ 9901

WPRRIPW T T




